
 

We are asked to find       

1. First find   ln  

 
Use the Bob Barker Property: 
 

 ln   =  = .    

 
  is of the form  since ln ( 0 + 1) = 0.  Apply L’Hopital.  

     =       =     

 
                                                                                                  =    =  

 
                                                                                                  =   = 301. 

 

2. Use the Cool Facts that A = eln A , that  ln   = 301, and a property of limits:  

    = 
 

  = 
 
    =  e301   . 
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